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[7-1] 000000 (QO000)

00 +000000 2000 f(x;¢)0,00000
82
or

000000000000. 000, |z| >0 O |f(z) > 0000000
00000000000.000,A0000 A=¢*2. (v000). 0O
0ooo

(2;t) = Af(2;t)

f(z;t =0) = exp(—2?/a?), g (x;t=0)=0.

000000 f(z;¢) 0000,

1.000 A0DOD,0000 {¢p(2)}eee 0000
2.0000 ¢o(x) 000000,00

flat) = / dk Fi(t)on()

O00.0000,0000 F()OOOOODOODOOOO,00.

3. f(z;t=0),2f(2;¢=0) 00000 ¢(x) 0DD0DOD0ODO.

4000000000 f(r;t)DODODO.
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[7-2] Ket vector 00000

00 +00000 ket vector [¢(¢)) 0, 00000

d
i (1) = Al (o) (1
OO0doDodoooooo. Agooad.

1.000 ADD0OO, 00 ket vector O A, |¢;) 000, O |¢;) OO
0oo00o000000o0oao,

A= Z 95) Aj (&5] (2)

0oooooo0.
2.00 (¢;]¢(1)) 000000000
3. [y(t)) 000000

(1) = D™ (651(0)) |ey) (3)

gbooboogo.

[7-3] Fourier DO OODODOOO

U000 —co<z<ooUUOOOOU

0% 0%u
W(%t) 202@(93,75) (4)

goob.od¢t=00,

up x (1= fz/a])  (|z| < a),

0 (otherwise),

u(z,0) = f(z) = {

0
au(m,O) =0

000000.0000000 u(z,t)0,00000000.

L. Fourier 0000 u(z,t) = 2= [ dka(k,t)e™ 00000, a(k,t)
D000D00000o0o0o00.

2. u(z,0), w(z,0) O Fourier 0000 a(k,0),a(k,0) 0000,

3.0000000000,akt)y0000.

4.0 Fourier 000, 0000000000000



[7-4) 0000000

1.

2.

3.

000 {¢sleex 0000. 000D0DO0000O0DO000O0O0ODO
00000, bra, ket 00 () 000000,
00,00000000000000000. 0000 ¢ 0,00
eCOOOO,

U(r) = ckdu(x) (5)
keN
0000000000, ¢ = () 00D,
00000009 0,0000 eCO000,0 (B)0O0OOOO
O00000,000 {ehey 000000O0000.0000000
00,0000

L= Z |Px) (Pl (6)

keN

gboboboooobboboooooboobod.

[7-5] Hermite 00O

000 ADDOO. 0000000 {|)}eey 0000, 00 Ay =
(palAgp) O Hermite 000000 (0ODO0OO0O0O,000 AO hermite

HEN

1.
2.
Hint.

Hint.

000000000 {|v.})

oooo).

000 (v],lwyDODODOO,00000 (v|Aw) = (Avjw) OO0 .
AODO0DOO0DOODODOODOOOD.
Vector v 000 vector 00000, (v]Av) = (v|Av)* 000D 0DO.

JA0000000DOO0ODODObDObDOobDO. Aoboboooo

gooboooobboboon.

2000000000 Ju),|lv) 0000, (ndvwy OO0OO.
ey D00000,00 Up = (Yalgs) O
unitary U OO0 OOOdg.

.000 BOODODOOODODODODODO,00000 (DO0)booDOOO

0. 0000000000 {|g))
Hermite 0000000000,

ood D7 Bab = <wa‘Bwb> U
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